
 
  RDMOTO CZECH REPUBLIC 
  info@rdmoto.cz 
  www.rdmoto.cz 

 
 

1 

B6-SL02 
BMW S1000RR HP4  

Kit for the left side:     Kit for the right side:   

   
 

Mounting instrucitons (left side): 
1. Remove fairing of motorcycle. 

2. Remove original bolts from frame. 

3. Place alu cylinders (ID5) under steel adapter (ID1). 

4. Fit steel adapter using M10 bolts (ID3). Don‘t forget to place alu cylinders 

(ID5) under bolts. 

5. Place 3M tape on the frame (ID6). 

6. Mount fairing back on the motorcycle. 

7. Insterst bolt M10x90 (ID7) into the protector and dural reduction (ID2). 

8. Mount this kit on the steel adapter. 

9. In the end mount coloured covers into protectors. 

Mounting instrucitons (right side): 
1. Remove fairing of motorcycle. 

2. Remove original bolts from frame. 

3. Place alu cylinders (ID4) under steel adapter (ID1). 

4. Fit steel adapter using M10 bolts (ID3). Don‘t forget to place alu cylinders 

(ID5) under bolts. 

5. Place 3M tape on the frame (ID5). 

6. Mount fairing back on the motorcycle. 

7. Insterst bolt M10x90 (ID6) into the protector and dural reduction (ID2). 

8. Mount this kit on the steel adapter. 

9. In the end mount coloured covers into protectors. 

 

We recommend to use the glue on all threads (medium strong). 

 

ID. Description Cat.no. Pcs 

 1 Steel adapter 672 1 

2 Dural. Reduction-longer 343 1 

3 Bolt M10x65 943 2 

4 Washer M10 804 2 

5 Alu. cylinder 6,7mm 1105 2 

6 3M Tape 3M 1 

7 Bolt M10x90 880 1 

8 Crash protector SL02  1 

ID. Description Cat.no. pcs 

1 Steel adapter 673 1 

2 Dural reduction-shorter 342 1 

3 Bolt M10x60 973 2 

4 Alu. cylinder 7,2mm 1107 2 

5 3M Tape  3M 1 

6 Bolt M10x65 943 1 

7 Crash protector SL02  1 



 
  RDMOTO CZECH REPUBLIC 
  info@rdmoto.cz 
  www.rdmoto.cz 

 
 

2 

 
 

6 

1 

3 

4 

1 

5 
4 

3 7 2 
8 7 

2 


